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min z = x11 + x12 + x13 + x14 + x21 + x22 + x23 + x24

s.t: x11 ≥ 0.5

x23 ≥ 0.5

x24 ≥ 0.5

150x11 + 250x21 = 200

8x12 + 6x22 = 5

10x13 + 15x23 = 20

20x14 + 25x24 = 30

xij ≥ 0

x11 + x12 + x13 + x14 = x21 + x22 + x23 + x24
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qwltniq ziipa:dira ly zihx
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max z = −→c −→x.min
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s.t: A−→x ≤

−→
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max z = 4x1 + 3x2

s.t: 2x1 + 3x2 ≤ 6

−3x1 + 2x2 ≤ 3

2x2 ≤ 5

2x1 + x2 ≤ 4:oeieey lawl i
k wxq dpzyn siqep ueli` lkl
s.t: 2x1 + 3x2 + s1 = 6

−3x1 + 2x2 + s2 = 3

2x2 + s3 = 5

2x1 + x2 + s4 = 4 :mb yex
p
xi, sj ≥ 0 :dlah dpapqiqa ipzyn z x1 x2 s1 s2 s3 s4 RHS qgi1 -4 -3 0 0 0 0

s1 0 2 3 1 0 0 0 6
s2 0 -3 2 0 1 0 0 3
s3 0 0 2 0 0 1 0 5
s4 0 2 1 0 0 0 1 4
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